### Construction division. Advice for giving credit to contractors/suppliers.

re	l. No. – site bills gister		-128:	1-	Regi	NAME AND ADDRESS OF TAXABLE PARTY.	rills	13/06	122
C	ompany Name:	IMI	RMILL		Site:			GMR	
Ne	me of Contractor		ambab			1			
Ne	ture of work		703117PM	1	1				
245	ork done		Date	00	.05	) ) T	o Date	13.0	06.22
SI. No.	Villa/Flat/block	no.	Qty.	Rate	The second second second	Units	Amo		Contractors bill no
1.	Maindog & 10	clo	10	50	01-	2017	5,0	000/-	
2.	B.R. E. Locles		3()	HY	٨	2011	127	. 1	
3.	Toilete & lock		20	112	F/-	2011	86	-100	
4.	Utility & loc		10	Hi	5/-	NIDE	H2	501-	
5.	beading Red-	_	70	80	-J	2011	25	501-	
6.	Toilet herd	1	20	81	1	2011	17	001-	
7.	Utilike bead		10	Ph	-/-	2001	85	01-	
8.	Proje head	0/	10	86	1-	2011	85	01-	
9.	+	1							
10.									
11.	T	otal:					364	40b	
Bill re	equired	□ YES	NO.		GST I	oill requi	red	O YES	INO.
1	urement & te sheet:	□ Requ	ired equired			urement ate sheet:	1	Not er	
PO/W					PO/W	O date:			
Remar	Remarks: Toponde doone Headware & beading fixing						Ling		
1000	work done at B-501,905, 506, 508, 601, 602, 603, 604,								
605	605,608.								
Approv	ed by Project Man	ager	Approv	ved by	Desig	n Team	App	roved by	M.D.
Date:		V.	Date:	4			Date	:	
Sign:		3/6/22	Sign:	and the second s			Sign		
~	, ,		1	-	-			214 2 .	ing labour hille hi

Notes: 1. This advice must be sent within 7 days of completing work, 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

						1
Project:	Gulmohar Residency				Approved by:	Kamprasad
Work Description:	Doors and hard				Sign:	
Prenared Rv	TO THE MILE HAM C HAMB AL D-DIOCK					
	Madnan					
Contractor Name:	Rambabu					
Date:	13.06.2022					
S No. Item Head	Item Description	Omatit	11.			
Date: Doors & Loocks fixing	13.06.2022	Zaaminy	CITICS	Vale	Amount	
	With mortise lock	10	No's	500	5000.00	
	Bedroom doors with tubalar locks	30	No's	425	12750 00	
San Marketon	Toilet doors with tubalar locks	20	No's	425	8500 00	
	Utilty doors with tubalar locks	10	Nois	400	000.00	
	Pooia doors with tubalar locks		NO.	423	4250.00	
2 Doors heading	D 104 201 202 202 202 202		SOM	c	0.00	
roots ocaumg	<b>Б-</b> 104,301,302,305,306,401,403,407.					
enous	Bedroom doors beading	30	No's	85	2550 00	
	Toilet doors beading	20	No's	28	1700.00	
and the same	Utilty doors beading	10	NIO!		1/00.00	
	Doois doors to di	0.1	SON	85	850.00	
	rooja doors beading	10	No's	85	850.00	

,			-			The state of the s		
Company Name:	ame:	MRMLLP				Approved by:	Ramprasad	
Project:		Gulmohar Residency				Sign:		
Work Description:	iption:	Doors and hardware fixing at B-block						
Prepared By		Madhan						
Contractor Name:	Vame:	Rambabu						
Date:		13.06.2022						
			Α	В	С	D	E=AxBxCxD	Ħ
S No.	Item Head	Item Description	Length	Width	Height	Nos	Ouantity	Units
_	B-block	B-501,505,506,508,601,602,603,604,605,608	05,608.		c			
		Maindoors with mortise lock	1.00	1.00	1.00	10.00	10.00	No's
		Bedroom doors with tubalar locks	1.00	1.00	1.00	30.00	30.00	No's
		Toilet doors with tubalar locks	1.00	1.00	1.00	20.00	20.00	No's
		Utilty doors with tubalar locks	1.00	1.00	1.00	10.00	10.00	No's
		Pooja doors with tubalar locks	1.00	1.00	1.00	0.00	0.00	No's
2	Doors beading	B- 104,301,302,305,306,401,403,407.						
		Bedroom doors beading	1.00	1.00	1.00	30.00	30.00	No's
		Toilet doors beading	1.00	1.00	1.00	20.00	20.00	No's
		Utilty doors beading	1.00	1.00	1.00	10.00	10.00	No's
		Pooja doors beading	1.00	1.00	1.00	10.00	10.00	No's

## Allowance for Consumables

Rambabu, Mallapur.

Date: 13.06.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Towards:

Carpentry work done.
Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards Doors, locks & Beading fixing work done at B-501,505,506,508,601,602,603,604,605,608 flats. Total Amount = 36,450/- Work done from date 06.05.22 to date 13.06.2022	Rs. 7,290/-

Amount in words: Seven Thousand Two Hundred and Ninety Rupees Only.

Sign: Ranholm

# Bill for Equipment Allowance

Rambabu, Mallapur.

Date: 13.06.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Carpentry work done.

**Towards:** 

Allowance for Equipment.

S No.	Description	Amount
1.	Brief description of work done: Towards Doors, locks & Beading fixing work done at B-501,505,506,508,601,602,603,604,605,608 flats. Total Amount = 36,450/- Work done from date 06.05.22 to date 13.06.2022	Rs. 14,580/-

Amount in words: Fourteen Thousand Five Hundred and Eighty Rupees Only.

Sign: Rambahi

106/22

# Bill for Labour Charges

Rambabu, Mallapur.

Date:13.06.2022

In favor of:

**MRMLLP** 

Project / Site:

Gulmohar Residency

Location: Type of Work:

Mallapur Carpentry work done.

Towards:

Allowance for Labour Charges.

S No.	Description	Amount
1.	Brief description of work done:	
	Towards Doors, locks & Beading fixing work done at B-	Rs. 14,580/-
	501,505,506,508,601,602,603,604,605,608 flats.	
	Total Amount = 36,450/-	
	Work done from date 06.05.22 to date 13.06.2022	

Amount in words: Fourteen Thousand Five Hundred and Eighty Rupees Only.

Sign: Ramhahu